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Chapter 06  Anti-Derivatives 
 

1)  The anti derivative of the function f(y) = secy tan y is 

 

A) sec y tan y 

B) sec
2
y 

C) secy + c 

D) tany 

Answer:  C 

 

2)  The anti derivative of zero is  

 

A) 1 

B) 0 

C) x 

D) constant 

Answer:  D 

 

3)  The anti derivative of the function f(y) = 4
y
 is  

 

A) 4
y + 1

 + C 

B) 4
y
 ln 4 

C) C
ln

y


4

4
 

D) 4
y
 + C 

Answer:  C 

 

4)  The anti derivative of the function  

f(y) = tan
2
y cosec

2
y is  

 

A) tan
2
y + c 

B) tany + c 

C) cosec
2
y + c 

D) cosecy + c 

Answer:  B 

 

5)  The anti derivative of the function f(z) = (3z – 8)
5
 is  

 

 A) c
z




6

)83( 6

 

 B) c
z




12

)83( 6

 

 C) c
z




18

)83( 6

 

 D) cz  6)83(6  

Answer:  C 

6)  The value of  


dy

yy

yy

32

44
24

3

 is  

 

 A) cyyln  )4( 3
 

 B) cyyln  )32( 4
 

 C) cyyln  )32( 24
 

 D) cyyln  )44( 3
 

Answer:  C 

 

7)  The value of  dy
yyln

1
 is 

 

 A) cyln   

 B) c
y

ln 
1

 

 C) c
y


1
 

 D) cyll nn ][  

Answer:  D 

8)  The value of  dy
y
o45tan

sec2

 is  

 A) cyln tan  

 B) cl o

n 45tan  

 C) tan y + c 

 D) sec y + c 

Answer:  C 

9)  The anti derivative of the function f(y) = y tan 45
o
 is  

 

A) sec
2
 45

o
 + C 

B) y sec
2
 45

o
 

C) 
oy

45sec
2

2
2

 

D) ½ y
2
 + c 

Answer:  D 

 

10)  The value of   dyyo 2sec)45(tan    is  

 

 A) c
o


4

)45(tan 4

 

 B) 
4

)45(tan 4o

 

 C) cy
o

tan
4

)45(tan 4

 

 D) Tan y + c 

Answer:  D 

 

11)  The value of   dyyeco 25 cos)45(cot  

 

 A) 
6

)45(cot 5o

 

 B) c
o


6

)45(cot 6

 

 C) c
o


6

)45(cot 6
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 D) – cot y + c 

Answer:  D 

 

12)  The value of    dxxcos)(sin 3  is  

 

 A) 
4

)(sin 4
 

 B) c
4

)(sin 4
 

 C) c
3

)(sin 3
 

 D) cx sin)(sin 3  

Answer:  D 

 

13)  The value of    dxx cossin  

 

 A) 
2

)(sin 2x
 

 B) c
x


2

)(sin 2

 

 C) cx  coscos  

 D) cx coscos  

Answer:  C 

 

14)  the value of   dy3sec  is 

A) tan  + c 

B) – tan  + c 

C) y sec
2
  + c 

D) y tan + c 

Answer:  C 

 

15)  The value of   dxaec2cos  is 

 

A) – cot a + c 

B) cot a + c 

C) x cot a + c 

D) x cosec
2
 a + c 

Answer:  D 

 

16)  The value of   dx
xl

x

n

o

sin

45cotcot
 is  

 

A) ln sinx + c 

B) ln cotx + c 

C) ln (ln sinx) + c 

D) – ln (ln cotx) + c 

Answer:  C 

 

17)  The value of    dyyy 22 sectan  is 

 

 A) c
y


3

)(tan 3

 

 B) c
y


2

)(tan 2

 

 C) c
y


4

)(tan 3

 

 D) cy 3)(tan
2

1
 

Answer:  A 

 

18)  The value of     dyyyy )12()5( 42
 

 

 A) cy
yy

 5
23

23

 

 B) cyy
yy




)(
4

)5( 2
42

 

 C) c
y




5

)12( 5

 

 D) c
yy




5

)5( 52

 

Answer:  D 

19)  The partial fraction of  
)1(

12





xx

x
 are 

 

 A) 
xx

bAx




2

 

 B) 
1


x

B

x

A
 

 C) 
1


x

B

x

A
 

 D) 
x

B

x

A


1
 

Answer:  B 

 

20)  In the form of partial fractions the rational function  

)1()1(

)12()13(
2

2





xx

xx
 can be written as 

 

 A) 
11 2 


 x

B

x

A
 

 B) 
11 2 


 x

B

x

A
 

 C) 
11 2 


 x

Bx

x

A
 

 D) 
11 2 




 x

cBx

x

A
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Answer:  D 

 

21)  In the form of partial fractions the rational function 

)2()1(

32
22

23





xx

xxx
 can be written as 

 

 A) 
21 22 


 x

B

x

A
 

 B) 
21 22 








x

DCx

x

BAx
 

 C) 
21 22 








x

DCx

x

BAx
 

 D) 
21 22 








x

DC

x

BA
 

Answer:  B 

 

22)  In the form of partial fraction the rational function  

)1()1(

2
22

2





xx

xx
 can be written as 

 

 A) 
11 2 


 x

B

x

A
 

 B) 
11 2 




 x

CBx

x

A
 

 C) 
1)1( 22 




 x

CBx

x

A
 

 D) 
1)1(1 22 







 x

DCx

x

B

x

A
 

Answer:  D 

 

23)  The value of    4)2( 2x

dx
 is  

 

 A) )2(1  xTan  

 B) 
2

)2(1  x
Tan  

 C) C
x

Tan 


2

)2(

2

1 1
 

 D) C
x

Tan 






 

4

2

4

1 1
 

Answer:  C 

 

24)  The value of  12x

dx
 is 

 

 A) C
x

x
ln 





1

1
 

 B) C
x

x
ln 





1

1
 

 C) C
x

x
ln 





1

1

2

1
 

 D) C
x

x
ln 





1

1

2

1
 

 

Answer:  D 

 

25)  The value of    24 x

dx
 is 

 

 A) C
x

x
ln 





2

2
 

 B) C
x

x
ln 





2

2
 

 C) C
x

x
ln 





2

2

4

1
 

 D) C
x

x
ln 





2

2

4

1
 

Answer:  C 

 

26)  The value of  dx
xx

x
 



sin

cos1
 is 

 

 A) Cxxln  sin  

 B) Cxx  sin  

 C) Cxxln  cos  

 D) Cxxln  cossin  

Answer:  A 

27)  The indefinite integral of the function 
1

2
)(

2 


y

y
yf  is 

 

A) y
3
 y + C 

B) y
y


3

3

 

C) y
2
 + C 

D) Cyln 12
 

Answer:  D 

7.  Integration by Substitution 
 

1)  The indefinite integral of 
y

y

e

e
yf

21
)(


  is 

 

 A) Cel y

n  21  

 B) Ce y   
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 C) CeTan y 1
 

 D) CeCot y 1
 

Answer:  C 

 

2)  The indefinite integral of f(x) = ln x is 

 

 A) c
x


1
 

 B) c
x

xln   

 C) ln x – x + c 

 D) x ln x – x + c 

Answer:  D 

 

3)  The anti derivative of 















 

2

1

1

1
cos)(

y
yeyf y

 

is 

 

 A) cySine y 1
 

 B) cyCose y 1
 

 C) cyCose y  1
 

 D) cySine y  1
 

Answer:  B 

 

4)  The value of  dy
yy

ye y

 
















1

1
sec

2

1
 is 

 

 A) cyCoe y 1sec  

 B) cyCoe y  1sec  

 C) cySece y 1
 

 D) cySece y  1
 

Answer:  C 

 

5)  The anti derivative of  
















 

1

1
sec)(

2

1

xx
xCoexf x

 is 

 

 A) cxSecex 1
 

 B) cxCoex 1sec  

 C) cxSecex  1
 

 D) cxCoex  1sec  

Answer:  B 

 

6)  The value of   dyyye y )3( 23
  is  

 

 A) cy
y

e y 







 3

4

4
 

 B)   cyye y  34
 

 C) cye y 3
 

 D) cye y 23  

Answer:  C 

 

7)  The anti derivative of  
23 3)( xexexf xx   is 

 

 A) cxe
x

e xx  3
4

4
 

 B) 
24 3 xexe xx   

 C) cxe
x

e xx  3
4

3
4

 

 D) cxex 3
 

Answer:  D 

8)  The value of     dzSinzeCosze zz
 is 

 A) czez  sin  

 B) czez cos  

 C) czez  cos  

 D) czez sin  

Answer:  B 

 

9)  The definite integral of  yCoeCotyeyf yy 2sec)(   

is 

 

 A) cyCoe y 2sec  

 B) cyCoe y  2sec  

 C) cye y  tan  

 D) cye y cot  

Answer:  D 

10)  The anti derivative of zSeczeSeczezf zz tan)(   is 

 

A) e
z
 Cosecz + c 

B) e
z
 secz + c 

C) – e
z
 secz tanz + c 

D) e
z
 Secz tan z + c 

Answer:  B 

 

11)  The value of   dyyCotyCoeyCoe yy

  secsec  is 

  

A) e
y
 Cosecy Coty + c 

B) – e
y
 Cosecy Coty + c 

C) e
y
 Cosec y + c 

D) – e
y
 Cosecy + c 

Answer:  C 
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12)  The value of   
4

4

22 sec





dyyCoySec   is  

A) 0 

B) 
4


Tan  

C) 1 

D) 
4


Cot  

Answer:  A 

 

 

 

13)  The shaded area in the figure can be represented by 

 

A B

y= f(x)

x

Y

(a, 0) (b, 0)

 
 

 A) 
a

dxxf
0

)(  

 B) 
b

dxxf
0

)(  

 C) 
a

b

dxxf )(  

D) 
b

a

dxxf )(  

Answer:  D 

14)  The value of    

3

3

23 )123( dxxxx   is 

A) 27 

B) 54 

C) 52 

D) 0 

Answer:  D 

 

15)  The value of   

3

1

345 )4( dzzzz  is  

 

A) 1 

B) 243 

C) 324 

D)  

1

3

345 )4( dzzzz  

Answer:  D 

 

16)  The value of 
3

0

sin



dyy   is 

 

A) 0 

B) 1 

C) 
2

3
 

D) 
0

3

sin


dyy  

Answer:  D 

17)  The value of  
4

0

2sectan



dyyy    is  

 

A) 0 

B) 1 

C) – 1 

D) 
0

4

2sectan


dyyy  

Answer:  D 

18)  The value of    

3

1

52

5

3

52 )2()2( dyyydxxx  is 

 

 A)  

5

1

52 )2( dxxx  

 B)  

5

3

52 )2( dyyy  

 C)  

3

1

52 )2( dyyy  

 D)  

5

1

62 )2( dyyy  

Answer:  A 

 

19)  The value of   

2

0

623

4

2

623 )3()3( dzzzdyyy  is 

 

A) 204 

B) 364 
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C)  

4

0

623 )3( dzzz  

D) ¾ 

Answer:  C 

 

20)  If f and g are continuous functions and 

  

3

1

7

3

9)(,8)( dzzfdyyf  then the value of 


7

1

)( dzzf   is  

 

A) 7 

B) 1 

C) 6 

D) 17 

Answer:  D 

21)  IF f and g are continuous functions on (a, b), s.t. 

  

b

a

b

a

dxxganddxxf 5)(12)(  then the value of 

 

b

a

dxxgxf )]()([  is  

A) 7ab 

B) 7(a – b) 

C) 7(b – a) 

D) 7 

Answer:  D 

22)  If f and g are continuous functions on (1, 5), such that 

  

5

1

5

1

3)(5)( dyyganddyyf  then the value of 

 

5

1

)]()([ dyygyf  is 

 

A) 6 

B) 8 

C) 4 

D) 2 

Answer:  B 

 

23)  If  

5

2

5)( dxxf  then the value of 
5

2

)(5 dyyf  is 

 

A) 5 

B) 3 

C) 25 

D) 10 

Answer:  C 

 

24)  If  

3

1

4)( dxxf  then the value of 
1

3

)( dyyf  is 

 

A) 2 

B) – 2 

C) 3 

D) – 4 

Answer:  D 

 

25)  The solution of the equation x
dx

dy
2  is 

 

A) y = 2x 

B) y = x
2
 + c 

C) y = 2x
2
 + c 

D) y =3x
2
 +c 

Answer:  B 

 

26)  Let f be continuous on (1, 7) and  

7

1

9)( dxxf , 

 

7

1

19)( dyyf  then the value of 
7

3

)( dzzf  is 

A) 10 

B) 28 

C) 7 

D) 4 

Answer:  A 

27)  The solution of 
y

x

dx

dy
  is 

 

A) x
2
 + c 

B) y
2
 = x

2
 + c 

C) y
2
 = x +2c 

D) y
2
 = 2x 

Answer:  B 

 

28)  If the acceleration of a particle is given by z = 2t, then its 

velocity at any time t is: 

 

A) 2t
2
 + c 

B) 3t
2
 + c 

C) t
2
 + c 

D) 2 

Answer:  C 

 

29)  If the velocity of a particle moving in a straight line is given 

by v = 3t
2
 then the distance traveled by it in the first T 

seconds is  

 

A) 3t
2
 + c 

B) t
3
 + c 

C) 3t
2
 + c 

D) T
3
 + c 

Answer:  D 

 

30)  The solution of 
xdx

dy 1
  is 

 

A) y = x
2
 + c 
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B) Cxly n  

C) 
x

ly n
1  

D) c
x

y 
1

 

Answer:  B 

 

 

 

 


